Tt 22024486 1 I 2B WAMER R0 . RREEE NI RIRIT MG A AE 2

B TR ARIR

HRR HRREE
A .
= =1 ‘HE 3 % % el =} oy = =l = = | Zim
FS| 28 | KB4 Fie | | S0 | m | & (B Be BHHES FRITRIT RS | B
7l BRRNIUES TS L)
BB B | &% %
K| R
1 e | Bk | B 72 WEFERT 240 ﬁﬂigﬁﬁ AR —Y 51222 Tskskokskok495442 5122%kkkkkrkk5 4 4022k kAR 0548 200
2 | wie | wmem | | 79 Giktsgl | AH LEE%XHL 5002skskssstotsskoor 00 4022%Hkpkkkxx 1873 200
3 % e | TR | B | 60 A3 i’ﬁﬁigﬁﬁ ek g | 51222 Twkkkkikrk05042 5122%kkkkkk84k 50 402238844k 2848 200
4 | me | mar | 2| se FETA 24 Zzﬁgﬁtﬁ 5122tk 5.0 4022ssssotksconok 0977 200
5 | vk | A | 5 | so Giktodl | A Lﬁfﬁcﬁ 5122%pktilinkh3 | 4022k 7767 | 200
6 s | xEE | B | 80 TRAEC I K Tgﬁ‘ﬁ 51 22%kkkkkkkiok 5 T 4022388844k 57T 200
7 e | ik | | 65 Bekfadl | iR ARt REERIE | T | 51222Tkkekenkk 1496162 | 5122%kkwkikink6] 40228k 5746 200
8 s | Bk | B | er FEASE | TR ARSI T | 51222Tskkirssx0495612 | 5122%wkktkitk 56 4022kskskoxk 9318 200
9 %z wESR | %« 83 BAT64H I AR LR XS fErbke| g | 51222 Tswskrrrkd96862 5122558845468 A022%ksksksk kKX 5826 200
10 | %2 | WEE | & | 72 iR | TR AR MARSE| —% | 512227%kksksx%496911 5122wk k%69 40225 kHxk 44 T869 200
11 e X)E | & 90 Zikihrade | RAHRLRXS 512 2skskeksoletoiokok k6.6 4022k %5k k5% 1 807 200
12 %2 X7 | & 72 FHYarad | SRR WIRIE| —2% | 512227kt 498011 5122kctotskotokokk 80 4022skiksoletorokok 2878 200
13 % s WeE | & 81 A 240 ARG ARAS 51 22:kskskskskkeksiokok 67 2022555 kA %% 6086 200
14 (e WEFE | & 81 BT 34H. ARG ARAS 51 22:%sksksksktoksiokok 6 202255 kA A xE %0485 200
15 & ke | B 82 BT 52H. ARG ARAT I — | 0225 % %5505k % %4985 200
16 s | wiEE | & | 82 BeArsd | RAMELRXS 51 22kctotsotokokk64 4022sksskstsetoiok k2160 200
17 | e | R | & | 82 KPR 14 | R AR 5122%kkskknk k%63 621 5kskkrkk6286 200
18 %% WM | & 86 Bt 340 AR R ARSI I ——y 40225k Aok E | 52T 200
19 e HER | & 92 At 340 AR R AR T —tY 4022k Ak 1 964 200
20 | %2 | Wk | B | 90 FEPPR L | AR R —r 402258k 1830 200

e
-
p=i
N

/|

-
p=i




